Bihar Mathematical Society
Talent Nature Programme (TNP) 2021 (Class-06)
Full Marks:- 100 Time: 2% Hours
Answer all questions. All questions carry equal marks.

1. Find the number of roots of |x|2 +7|x+12=0.

|x|2 +7|X|+12 =0 % weit it wear 71 i |
2. Find the value of \132—+132— V13220 .
J132-\132—V132—..0 o s a0 ¥

3. Find the value of x, when 4(4**")-2(4")+1=0.

X BT A F1d BY ofdp 4(42¥T1) — 2(4¥T1) + 1 7
4. Ifx+2y+3z=21and3x+ 2y +z =43 thenvalueofx +y+1z .
AT x+2y+3z=21 @M 3x+2y+z=438 A x+y + z B °9 FDI |
5. Find the unit digit of (72)*31.
(72)*31 @1 37¢ i BT |
6. Find the remainder of 3*3 when divided by 4.

4 A AR & w343 &1 Avm F1d P

7. Students of a class are made to stand in rows. If 4 students are extra in each row, then there
would be 2 rows less. If four students are less in each row, then there would be 4 more rows.
What is the number of students in the class ?

ek T o feremfia sy ufrar & @t fora SiaT 21 afe wees ufte o 4 foremeff sifafen &, v 2 uieat wa e afs
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8. IfA:B=3:2, B:C =4:3and(C:D = 3: 5, then divide Rs. 360 among A4, B, C and D. Arrange
them in sequential order.
e A:tB=3:2, B:C=4:33RC:D=3:58 a1 AB,C3IR D & 7 360 TI Bl faviiord o | S
PG HH H FaRerd B |

9. Inacircle of radius 41 m, AB and CD are two equal parallel chords of lengths 80 m each. What is the

distance between the chords?

41 HeR B a1l U g9 W, AB SR CD <1 999 [EEieR Sian €, R I U @1 ofars 80 m g | Siarsi
S 99 B T E?

10. (a) The value find of x if 5*7°.3*® =225
X BT BT A S B | afg 5°7°.377° = 225 42X+ gy

(b) If 4= \/x+\/x+\/x+... , then find the value of x.

uﬁ:4:\/x+ X+NX+.. B A x BT B AT AT B



